
Výsledky př́ıklad̊u

Cvičeńı 12

1. Y má distribučńı funkci,

FY (y) =


0, y ≤ 0,

y, y ∈ (0, 1),

1, y ≥ 1,

tj. jedná se o rovnoměrné rozděleńı na [0, 1].

2. c = 110,

fX,Y (x, y) =

{
55x5y4, 0 ≤ x ≤ 1, 0 ≤ y ≤ x,
0 jinak.

X, Y, Z nejsou nezávislé.

3. P(N = k) = λ
(1+λ)k+1 , pro k = 0, 1, 2, . . .

4. (a) E(X + Y ) = 2/λ, E
(
X/(X + Y )

)
= 1/2

(b) Náhodné veličiny X + Y a X/(X + Y ) jsou nezávislé.

(c) E(X|(X + Y )) = X+Y
2 .

(d) Emin(X,Y ) = 1
2λ .

5. (a) P(X < 1) = 1/2, P(X > 5) = 1− Φ(2) =̇ 0.0228,
P(|X| < 2) = 1− Φ(3/2) + Φ(1/2) =̇ 0.6247

(b) u = 2Φ−1(0, 975)=̇3.92

6. (a) X̄n ∼ N(µ, σ2/n)

(b) P(X̄n < µ) = 1/2

(c) n ≥ 22

7. EZn = n, VarZn = 2n, Zn ∼ χ2
n
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